DIVISIBILITY, INTEGERS, POWERS AND ROOTS TEST - 2° ESO

Exercise 1: (2 points) Work out
a) lem (254, 392) =
b) lcm (130, 182) =
c) hef (16, 27) =
d) hef (17,51) =

Exercise 2: (0.75 points) The planes to Paris leave every eight hours, and the planes to New
York every twelve hours. If both left this morning at 06:30h, when will they coincide again?

Exercise 3: (2 points) Work out the value of the following expressions:
a}(34}—2 _3]9 —
b) (74 :7):(7" -7 =
c) xtoxTixt =

d) {a'i-as} :(a'z-a'ﬁ) =

Exercise 4: (0.75 points) Work out:

a) | 2] = b) —3* - J(-2) =

Exercise 5: (1.25 points) Work out the value of the following expressions:

} JC_1 'J.-"] _(}12}—5 i .'{:]4 ::I 253_5—5 _21
da = Thd AT o7
oy 10%-27-5

Exercise 6: [0.75 points) | want to build a square pen for my sheep so they don't go away. The
area of the field is 784 m*. How many meters of fence do | have to use?

Exercise 7: (1.25 points) Work out:
a) / 810 000 000 000 =

c) *{1’ 729 000 000 000 000 =

Exercise 8: (1.25 points) Work out the value of the following expressions:

a) S—2-J64 - (—4)—5 31 +(=2) =

b) (VBT —/5| —29—4:(-5)~2"-3 +1 =
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